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                 SECTION-A     (5x4=20 Marks) 

 Answer any Five questions from the following 

 

1. Renewable and non renewable resources. 




2. Zamindari system. 





3. 1956 Industrial Policy Resolution.  


 

4. Objectives of NITI Aayog. 




5. Liberalization. 

 
 

6. IADP. 


 

7. Cooperative federalism. 


 

8. Transport facilities in India. 


 

 

 
                  SECTION-B     (5x12=60 Marks) 

Answer all the following questions 

 
 

9.   (a) Explain the features of Indian Economy at the time of independence. 

                  
(OR) 

       (b) Explain the causes and control methods for population explosure. 

                 
 

10.  (a) Explain the causes for low productivity in Indian Agricultural Sector. 

                 
(OR)

      (b) Describe the land reforms acts implemented in India after the independence.  

                 
Contd….2 
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11.   (a) Critically evaluate the 1991 industrial policy resolution. 

                  
(OR) 

       (b) Explain the significance of industrialization.  

                  
 

12.   (a) Explain the differences between NITI Aayog and planning commission. 

                 
(OR) 

       (b) Explain the role of NITI Aayog in strategic planning and innovation. 

                  
 

13.  (a) Explain the importance of service sector in India. 

                  
(OR) 

     (b) Write a note on economic reforms in India. 

                  
 


